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QUESTION 1

Even though atomic service transactions can be used to ensure that all services within the transaction either succeed or
fail, in larger transactions involving multiple services, the amount of required memory consumption can . 

A. add up and reduce overall service scalability 

B. be minimized through the use of service agents 

C. be deferred to a compensating service transaction 

D. None of the above. 

Correct Answer: A 

 

QUESTION 2

The Process Centralization pattern is most commonly associated with which service model? 

A. utility service 

B. entity service 

C. task service 

D. hybrid service 

Correct Answer: C 

 

QUESTION 3

The application of the Protocol Bridging pattern automatically results in the application of the Data Model Transformation
pattern. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 4

When applying the Process Abstraction and Process Centralization patterns together, non- agnostic business process
logic is: 

A. located in one place and separated from agnostic logic 

B. distributed across multiple locations and separated from agnostic logic 
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C. located in one place and combined with agnostic logic 

D. distributed across multiple locations and combined with agnostic logic 

Correct Answer: A 

 

QUESTION 5

Service logic can be deployed in isolation to autonomy, but services can still autonomy when they are required to
access shared data sources. 

A. increase, gain 

B. decrease, gain 

C. increase, lose 

D. decrease, lose 

Correct Answer: C 
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